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L. [m togzing a pair of dice indcpendently and ropeatedly, Whet is the probability of
gotting a soven {7 before & foue (1) 7 {10%E)

2. A& machine manwbaciees ousinds of parts 4 day.  ™orraally §0% of fhem are
defective. A sample of 4 iz daken from 4 days" output which will b2 inspected F009%%
iE five or more defectives ape found in the sample. Compote the probabiiity that a
Jdas’s production will be 10094 inspecied?

{10%)

3. A company is intcrested fo knoow the 1ifc of 8 panticelar clestronie component - 1
ten (1) components randemiy selacied frorm 1he production ling acs tested and thed
lifedimes frueasured tn 10,000 hoors) 2re reegrded a3 figllons:

9.5,3, 745 1,48, 4

(2} Whiat are the assutaptions fat we peed to make for e above sanplas?

(b What will the possible time thae 90% of the electronic components are atibl alive
and eam be used ?

(¢} Howr can we judps the pessible lifc distdbotion of the cleptronic componenis?
(15%) '

4, IC Lhe distribulion of weights of all passengers iravalling by aic from Tainen 1o
Taipei has a rocan of 163 1bs, (#3) and standacd deviasion of 13 the, What i the
probability that the combined weipld of 36 paszengets travellity on A plaie is mote
thean G000 Lks? (10%)

F Which one of the Lllewing stalement i3 comect?  Show and explain your rea.sﬂns;
{2} E{ECX Y} = &[T
(k) ECE(R Y) =E (X} (10%)

4.4 bowl contains L chips of whach 2 are red and wordh 5200 each and two preen
and worth 35 each, A person selecls a1 rardom and wilkoel replacament 3 chips from
this bowl, IT (he pecson 15 to receive the sum of he resolng emannts, find his
cxpectalion. (1034
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7. Suncrmarket chaing often catty producds with their own brand labels. A
supermacked condusted & taste test to dalermine whether there was a differeoze in lasle
aneong the four brands of ford products it carried (A B,C,D). A sample of 200 people
surveyed, and the results of their preforences are swmmarized as follows:

Brand Prefercnees
A B C I+

W57 55 49 (A)
Is these any evidence of a difference in preferonce for the four brands? Test at 5a
significanss level. {1538}
8, Given the following sales data (Units: 51000

Sales (¥ -314, 315, 316, 317, 31§

Coats (Y): 204, 202, 205, 203, 206

fa) Obizin the lincar reg:'essim: equaiou.

() Whea sales ave $320,000, how mugh is the expacied cosiz , znd how much ig the
profits?

fe) Establish an AWCVA table aeed evaluats the adeguacy af 1l rodels,

[dy What is (e 93% eonfidenee interval of the csUmeale 1 (1),
(20%)
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